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(i) Data Sufficiency
GeRo¥ HopS

Note: In questions munbered 1 to 20, a question 15 followed by data in the form
of two statements labeled as [ and I1.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
amdelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

B 1 Ho0H 20 355 @D )b 158 15480 8 153, o) (Bod LI e Hhisen Ko Bod
mddaren dBoTen adgo@Fon. )G dErodd; @HSrAod, adyd
[Sddaren D415 HAPEaE; aldjodh dosiTen adordr do =D b
DT Bowrd). & AT e (Bod SrddE 8 Areren aI3&@rAoD (1) dod (4) S8
D8 emond sareni dobl Tabod.

(a) D435 HArgrio a@joch i HSA50 1SS Sopadlond D aaren (1) e
HBodiod.

(b [H43% Sdrgrdo adjodh (HSSS0 0 Srddh SopdSond & aamw (2)
m f8odod.

[} (HEy% Adrerdo adjobhdh SSSares LI 408 Sogblon wokhd O
28243 o Sorgao e @ aaan (3) m Hodod.

() (H41% Adrerdo afjodkh |Bddaren LI EDA Sror Sop2o 5 eaddd
AP odo midhS&ond b earen @) HBolSos .

For a=1. b>1, what 1s the LCM of ¢ and b7

a=1, b>1 et a0 e oS S0 oos?

1. Product of aand b 1s 1763
0 docin ) eepe1763

1L a aud b are coprimes

@ Snbdin H HiFHrrarosen
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(1)

Note:

Data Sufficiency
Bapod HoyHe

In questions numbered 1 to 20. a question 1s followed by data 1n the form
of two statements labeled as 1 and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
gmdelnes:

(a)  Mark choice (1) if the statement I alone 15 sufficient to answer the
question,

(by  Mark choice (2) if the statement II alone 15 sufficient to answer the
question.

(c)  Mark choice (3) if both the statements T and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

f S 1 1 Avod 20 HE5 9l (Hel Lﬁ%;éﬂ'ﬁa 2.8 (dy, o) (Bod LI esf) Moloen Hex Bodo

Biddaren d@oTen adgjo@ron, ad)d SBoF) eLHErPAod, 935
hadSaren (D35 Hdrgrard) afjodhi Sogaren ederdr Jo =d b
AT 8owre), & AT GmE (fod JrdadE Sr(eren SIHG3rA0D (1) dod (4) S5
28 mond aaaed JohE Fdbod.

(a) 1543 % Hdrprdo atdioth® (HAS50 1304 Sophhond & aaran (1)
Hh8odoh.

(b) (D418 Hdrrio adjochi (D555 1 3MaEh Soia%and D aaan (2)
m H8odod.

(€) [H¥18% adrerdo adijochd HSdaren LO 505 Sovihdon modhd D
wied Sror Lo gno o iird@ aaen (3) e hlodod,

(d) 15415 Hdrgrde adijodhb |Sddacen LI 205 Sror So oo ol eaddS
S8 0do mAHhSSond Db 2o 20 (4) m wlodod.

If a, b, c are positive integers. 1s their product a b ¢ even?

a, b, ¢ o g6 Gpmosren vand, b ogo abe He Howy OHedom?

i3

IL

a+b+i1sodd

a + b+ ¢ 8bdomy
ad + ¢ 15 odd

a + ¢ D dow,
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(i) Data Sufficiency

BeRo¥ HoyHe

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
ouidelines;

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and I are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and IT together are not
sufficient to answer the question and additional data 1s required.

AP 1506 20 385 ad 3 (58 154,65 w8 154, ord (Bod LTed Hden fo Bodh
Rddaren HBPoFen adgoa@on. ad)d S@8oTR)) ASI0TF0D, DD)S
Sadaen 19415 Hdrgrad) afiodhh o slErddr o e b
AT 8o, & AT 8m (2o S,r8A88 SrEren aLEPA0D (1) o (4) SE%
28 oM BN dond Sobod.

(@) (45 Sdrgrdo adjodhy D050 T SmaD Sogafond D aarea (1)
Hbotiod.

(b) D45 Hdrerdo ad ot 153550 1 & 8D Svitdhond b sow (2)
m fhBodod.

() D335 Hdrerdo adyodhd Biddare LN 505 Hogddon @othd D
2¥363 Soror Sogho sErd 2o (3) T HBodod.

(d) DA% Hdreedo aljodhH (ST LI 05 Srar STgRo T eaddd
ST odo mdHs%ond o aa o (4) m HBodod .

Isa=>h?
a = b egdomn?

I. x—31s a factor of x*—27°

- 277 s, 2.8 et v 3

I x—2isafactorof x*—16°

¥t - 167 g, 2.8 gpago -2
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()

Data Sufficiency

BERo¥ HoRHS

Note: In questions numbered 1 to 20, a question i1s followed by data in the form

of two statements labeled as L and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Usmng the
data make an appropriate choice from (1) to (4) as per the following
guidelings:

(a) Mark choice (1) 1f the statement I alone i1s sufficient to answer the
question.

(b  Mark choice (2) if the statement 11 alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 od 20 385 afl s 158 1598 1591, o0 (oS LT el Hlven Ko Bodh

[Radiaren d@PoTen @afn@lon. @ty S80TR) Sodriod, @iy
hddaren Hi3% Hdrgrard; adjothd Soaren aderdr S ed Dk
AT Boire), & AT Emb (Hod 05 Srjoren EEBPAOD (1) Jod (4) 88
B o Bara e Jodhi Sabob.

(a) 1D¥5 Hdrgrdo a0 1H5550 1 SmEH Sopddond S adaran (1) m
Mlodoh.

(b) 15435 sdrerdo atdjodhs Hddd0 I S3rddh Sosahond D zam (2)
m H8odob.

(e} D935 Hdrrdo adjodhd Didaren LI 50D Svghdon wmothd D
e.H2e3 Brge HUrgwo TES@ o (3)  Mlodod,

(d) 12¥1% LHdrordo adjodhd Sddaen LI 205 Sroe Susoo 58 ewddD
SBPoF0 e SHSRond N 2o (@) m HBodod .

Is the porallelogram ABCD a rectangle?

ABROST SeryEo ﬂﬂfnmw

I. AC=BD

I ZA+ ZB=1%0°

Options:
1.v1
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(i)

Data Sufficiency

Berod DoDHE

Note: In questions numbered 1 to 20, a question is followed by data in the form

of two statements labeled as T and II.  You must decide whether the data
given m the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
gmdelmes:

(a) Matk choice (1) if the statement I alone 15 sufficient to answer the
question.

(b) Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 15 sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

BrS 1 Mo 20 3855 @) )5 (D8 (5465 a8 159, oD Bod LT wd hien fo Bodb

[Radaren dBoTen adga@Fon. Qd)o SBPoTR)) asdlriod, @)
madaren 12435 Hdrerad) adiodhb SosTen edordr Ho el Db
DT 8o, % DT Em% (208 SpDEEE SriEren GodrACD (1) Dod (4) H8%
A0 mond aarands Jobl Schob.

(a) [H43% Hdrordo adoh HSS5301drah Sopddhond Db zaren ()T
HBododk.

(b) (3435 SHdrerdo a0t H3530 T AMER Sosddond D 2o (2)
e HBodod.

(c) 3415 Hdrgrdo afijodhih Haddoren LI ¥0D dogiadon @modhd D
wly e Sergr Sorgeo oEdrd aara (3) m hiodod,

(d) 1% Hdrgrdo adijodh (Hadaen LI £05 Sror Susto 5 =555
S oio el hd&ond Do 2o (4) m Blodod .

What 15 the area of the ciurcle?

& o s, ereyo w06?

IL.

The circle 1s inscribed in a square
8 Hdo 5 JboHos® vosgBiduod.
The length of the side of the square 1s 8 cm

& S0 Zoasn P 8 bo.fo.
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(1)

Note:

Data Sufficiency

Bemo¥ DHoyHS

In questions numbered 1 to 20, a question is followed by data in the form
of two statements labeled as Tand II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines;

(a) Mark choice (1) if the statement I alone 1s sutficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 15 sufficient to answer the
question.

(c)  Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient,

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

Bt s 1 dvod 20 585 035 158 15480 2.8 157, o (2ol LI esd Hhiben fer Todh

[matiaren SAEFOosen adfo@Fon. ad)e SBPord)) SH8rAod, @i
Sdaren (B35 Hdrprad) afodhb dusren edjeedlr Do ed b
DT Boore), & AT Em5 (Fod Sr0AEE Arioren SLHEPHoD (1) ood (4) H85%
b o d emarand 058 TJabod.

(a) 1% Hdrerdo adioth DAGS0 1ArST Soshdond o aa e (1) m
HBodod.

(b) (B35 Hdrerdo adjods Hadddo I 3mddh Sopddond D =aaw (2)
m dodod.

(0 Dy Hdrerdo adjodhd Padaren LI 03 Sogddon mothd O
04383 Srge Sopio TErS o (3) m HhBodod.

(d) H¥1% Hdrgrdo adiokhdh Badaen 1 E05 Srar Soseo o @d5G
AP0 mihESond Db aae ) BBolod .

What is the three digit number P, where 100 < P< 2107

100 = P< 210 eowbagpss, @ fmth oodonory, [ @od ()7

IL.

P gives remainder @ when divided by 10
P o 10 Szepflondih 440 9.

P is divisible by 11

113 P odgom elicdotaod.



Options:
1.%1
e %2
3.9 3
4 % 4

Question Number : 7 Question Id : 6672694785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i)  Data Sufficiency
Begod Hoyde

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given m the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the

question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to

answer the question but neither statements alone 15 sufficient.
(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

APGS 1 B0d 20 535 33 158 1585 % 28 (54, o) (20d LI ed Hidhen fo Sodh
|Bddaren d@oTen adga@Fon. miid SBPoTR) GodlPfod, =)0
Sddiaren D15 SHSrerad) afiofhi dosen mderdr Sor ed
DT 8ore), & HTERH (Fod Sr0adE Arieren LMD (1) Aod (4) 65
a8 emond mara s Jodh Hobod.

fa) 318 Hdrerdo @@jod i (Daddo T ardah Sogdlond tb mare (1)
Hiodiod,

(b) 15431 % Hdrgrdo adjodhd BSddSo I 3MEd Sos2fond b aaan (2)
m fhbodob.

{e) D15 Sdrgrdo afjodhd |PDadare LT #0035 dogddon @0 D
2.5 8% 8o o sno TErd 2o (3) T o dob.

(d) (533 % Hdrordo atiothdh Bl LI 5D Srar Hogeo 5 eaddl
SB00 5585008 Jo maran (4) r H8olSod

What 1s the cost of one chair?
2 ) s, b Dod?

I. 1 Chair and 1 Table cost Rs. 12.000
2% £§ Socin 25 heeay obd 6r.12,000.

1I. The cost of Table 1s twice the cost of the Chair
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(i)

Data Sufficiency

Ben0d DoyDS

Note: In questions numbered 1 to 20. a question 15 followed by data mn the form

of two statements labeled as [ and II. You must decide whether the data
given m the statements are sufficient to answer the questions. Usimg the
data make an appropriate choice from (1) to (4} as per the following
guidelmes:

(a)  Mark choice (1) 1f the statement I alone 15 sufficient to answer the
question.

(b)  Mark choice (2) 1f the statement IT alone 15 sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sutficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 15 required,

BPSS 1 ob 20 555 ad b 158 (B 5% aX 1H8), o (2od LI ed Hhden e Sodk

Hedtharen SBFoFen aofo@on. adyo S8PoTR)) Sadirfod, @y
|BSSaren (D)% HIdrgrad) adjothih dogiTen adEedr So @) b
DT Bomre), & AT a5 (Hod Jr045,1 Arieren S0 A0D (1) Sod (4) H55)
B mond aarads dodhl Fabod.

{a) 1543 % Sd&rrdo ad 05 [(HSS850 1 8P4 Sogadond b o (1)
Bodiod.

(b) 5% 5% Sdrgrdo atliodh (BSd8S50 I &rdh SoiaSond D zarew (2)
- Bodod.

(€} 1H¥15 HIrgrdo adioddh BSSTen LT 3OS Sviadon @othd D
2,463 Broe Sopdo X aaan (3) m Mbodod.

(d) 1543 % HArgrdo adiodb BSSaren LI 805 Sror SorgRo T8 eaddl
&4®Podo ealHhdSondd b 2o (4) m Adodod.

What 15 selling price of each article?

228 Brg) s, OER Sy e 2087

I

IL.

The trader made a profit of Rs. 100
© ousERo te. 100 oo Srwsoi.

Two successive discounts of 10% each were given

282,58 10% S Dotk Sroodes 8o, astio 20808
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(i)

Data Sufficiency

Serod HouHe

Note: In questions mumbered 1 to 20, a question is followed by data in the form

of two statements labeled as Tand II.  You must decide whether the data
given m the statements are sufficient to answer the questions. Using the
data make an appropriate choiwce from (1) to (4) as per the following
guidelines;

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(by  Mark choice (2) if the statement II alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient,

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

BP0 1 Sood 20 S8% a3 158 (5487 o8 1541, o0 (Fod LILed thiben fe Sod

Badaren dTroTen adjo@Fon. adyd derorn) sLHd3rfod, adyd
B daren [H415 hdreorad; afljodh Suiiren adeedr Ho e b
AT o). & AT EmE5 (Bod SPEAEE SrEren aLdlPrhiod (1) Sod (4) SE55%
28 wond oo JohE Johob.

(a) 194150 Sdrgrdo ad@yodhd 13000 T Srsah Sosddond o saran (1) m
HBwlodiod.

(b) 154215 Hdrerdo adjodhd (33550 I 3msSd Sopabond b sam (2)
m Hdodod.

(o) Bdy5 Hdrgrdo adjohb Di3daren LN 505 dugddan @ohd D
25381 e Sosho rEOd 2o (3) T HBodob.

(d) 15 Hdrerdo adiodh Dadaren LI 505 Srar SogRo 58 @il
S80i0 edHESond b mazw (4) 7 HOodod .

What are the two natural numbers @ and b?

@ Dotk dire Homgen (1 oo [ BO?

I. LCM ofaandb=240

II.

(1 Sveciy e S b =240

HCF of @ and &= 20

fdecin D edidhee =20
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L

IL

(i)

Data Sufficiency

a0l DowDHS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as T and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelmes:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(by  Mark choice (2) 1if the statement IT alone is sufficient to answer the
question,

(¢) Mak choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPSd 1 5000 20 555 9035 (58 15468 o8 1541 od (208 LI &d) then fo Bodk

lmddaren SBoTen wdsa@on, wil)d dBPord) SadirAod), @did
Hddaren H¥15 HIArprad) efjodhi dosTey aherdr Bo el b
WAFboord). S OFdnd (fod Sr0dd )l ArEren aS8PR0D (1) Sod (@) SS5
Mb mond aaad dohl Sdbod.

(a) |54 % Hargrdo afjodh i Hadho 1 SrEh Sorddond b 2aw (1) m
oo,

(b) (D435 Hdrgrdo adjodkhi (33550 T SrEHh Sopdhond D saren (2)
i fhBodod.

(e} 1H¥38 Hdrordo af ok BSSaren LT 505 dophdhan modhd D
o888 Bror So oo TEMrd aaan (3) i Blodod.

(d) D¥3% Hdrgrdo affjohs HSdaren LI 05 Sror Sogdo rF eddd
S8 odo eiH8&ond o aaz ) m Hlodod .

How many people i the city speak Hindi?

82 Hrod® codinod e trob Sripthaed?

10% of people in the city can speak two languages

& Do 10% Haen Dot prle Srepdnon.

5% of people m the city who can speak two langunages can speak
Hindi

2 Hiprod® Both rae: SPEREADE Seedt 5% Mod Irobiriptia.
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and I[I. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
(uestion.

(b)  Mark choice (2) if the statement 11 alone 15 sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1f both the statements I and II together are not
sutficient to answer the question and additional data 1s required.

AP : 1 dnod 20 SEE @l ) 1356 [;:E;é*rﬁa 8 15%, o (Fod LI &) Hdven fo Bodh

Padaren SBPoTen adgoa@Fon. @) S'roTd) Ssadriod, @djd
SBdSaren % Hdrorad) adiodkhdh STiTren ederdr Po el b
DT Boore). & AT Emd (2od Ap0AE;E Ar(eren GLEPHoD (1) o (4) S8
28 ewond adarand Jo0DhE Jabod,

(a) 1534250 HArErGo adjofh i (Baddo I Srath Sozddond b =am (1)
MWBodob.

(b) (D45 HIrgrdo adjodh (D3G50 I Sraih dogedond D o (2)
m f8odod.

(c) 19415 Ddrgrdo afjo® [BSGaren LI $05 Sopdlon wolhs D
el 03 Boror Sorgno o Erd saan (3)  HBodiod,

(d) (0435 Hdrerdo adjodkh |SSSaren LI X605 Sror Sog2o 78 eadAd
S8 0io midnhdMond S 2oz () m Hlodod .

Does the pomt (x, ) lie in the first quadrant?

(v.7) oot Ao Shood® dotvorn?

E
IL.

Options:
1.91

xy<=10

x+y <10
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(i) Data Sufficiency
Seod dRBS

Note: In questions numberad 1 to 20, a question i1s followed by data m the fornmn
of two statements labeled as L and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 15 sufficient to answer the
question.

(by  Mark choice (2) if the statement IT alone is sufficient to answer the
question.,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(dy Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

AP 1 A00d 20 585 @i )5 158 54,6 ol 154, oD (Hod LT ed hien He Bodh
[wddaren ABFoTen QosalFon. W0 S8BT Sodiriod, @030
hddSaren (H¥3% Sdrrard; adjodhb Sogres ediordyr o el Dk
DT Boore), & AT (Fod 0S5 E AriEeres L&A (1) od (4) HE5
A8 wond 2o JodhE Habob.

(a) 12241 % Hdrerdo af o Haddo ] Arah Sosadond b maan (1)
HBlodod.

(b} 1541 % Hdrgrdo aFjodh B (Dd850 T HSrEh Sogalond D eaen (2)
m hiodod.

(6) (D918 Sdrprdo adodhdh Hidaren LI 05 Sosadhon wothd D
.53 Spge Ho oo mErd 2o (3) m Bbodod.

(d) |H43% Hdrgrdo amdyodhd BiAdaren LI 05 Sror ST o 8 il
AB030 oI55 00B b 2o (4)  HBodods .

Is 6 a factor of n+3 7
N3 Gk 2.8 pradso 6 ag)dbore?

I. mis even and divisible by 3
1l dodoy Hocin 3 I eicduthaoD,
II.  »1s divisible by a prime number

%5 Hord Howsd 11 pefiodotidon.
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e %2
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(iy  Data Sulficiency

meod DoBhE

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sutficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
gudelines:

{a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the
question,

(¢} Mark choice (3) if both the statements T and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) 1if both the statements I and IT together are not
sufficient to answer the question and additional data 15 requured.

Srcdd s 1 Aood 20 A58 afiyd (S 1538 o5 154, od (Bod LT eed Hlben Ko Bodh
[Sddaren A@Posen adgolPon. @wilyd AFosh)) Ss8rAod, @fyd
[Bddaren lod) 5% Hdrerai; a0 SorEren CERY o i T S
AT doord). & AT dnd (fof IPp0AEE Arieren aodirfiod (1) Sod (4 S5
w8 @ond sdaaan nobE Gabod.

(a) 5335 Hdrordo adiodhs | Ha5501 Amad Sopddond S aom (1)
Wlodod.

() 1549 3% Hdrprdo adjodhh 1H3550 0 Srdh Sogadhond o 2o (2)
T fBodod.

€} [¥3% Hdrerdo adiodhdh Sddaren LI £05 SHoidiion sothd D
aa el Sror oo soo rEird 2o (3) m Bbodod.

(d) 1B % Hdrgrdo adjodkhs BHaddaren LI 505 Sroe SopRo TF edd
SBPofo eldhdond D o 4 ™ HBodod.

What 15 the height of the tree?
& O i) 0T

The height of mountaimn is 300mrs
@ Ldsdo o 300 fobgy

The angles of depression of the top of the tree and the bottom of the
tree are 45° and 607 respectively as seen from the top of the
mountain.

S& s dndo Sod Srdil s & Hp ok, B4 (Bro) Socin o (Sob

ere D Shee Sodre 157 Sedain 607,
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(i) Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 15 followed by data in the form
of two statements labeled as I and I1.  You must decide whether the data
aiven in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b}  Mark choice (2) if the statement 11 alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are suificient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1f both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

HPSS 1 Hod 20 S8% S 158 (535 % o8 1531, od (Bod LI &) hen fo Bodh
[madaren SBFoTen asja@on. atlyo S8oTd) Sadlrfod, =dao
Sddaren S35 Hdrgrard) adjodhb STriaren eaderddr Sor e b
AT Boord). & DT Em5 (Fo8 SPpOAEE Ar(@ren aIXEPF0D (1) Dod (4) SE5
28 wmond a2 JohE Tohod.

(a) 1543 % HArerdo adjofh b BS88d0 ] Srd® Soshdond b aae (1) T
hBodiod.

) (D45 Hidrgrdo adjodhH (H5550 I SradHh Sosadond D saw (2)
m Xabodod.

(e} |S¥1% Hdrrrdo afjodhdh Bidaren LI 502 Sopddion modhds D
2.8y 63 Bpor Hor g0 sEird 2o (3) m Hbodod.

(d) (D435 H3rerSo adiohH (HSSTen LI 0D Srar SogRo T8 eddhd
S odo eShddond D 2azn @) Hlodod .

How many men are required to complete the work in 40 days?

@ H00 40 Biaredd Hpo Jovms sod ol Hvdpey OBHGO OG)HEr?

& men and 10 women can complete the work m 20 davs.

8 o8 oudpen 10 Ho0d pev & HOO 20 Brod® Hpe Jobre,

12 women can complete the work in 30 days.
12 5008 gev @ H06E 30 Bared’ Hpg Jobriod.
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(i)  Data Sufficiency

BeRo¥ HoyRe

Note: In questions numbered 1 to 20, a question is followed by dara in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone 15 sufficient to answer the
question.

(c} Mark choice (3) if both the statements I and Il are sufficient to
answer the question but neither statements alone 1s sufficient,

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additnonal data is required.

Ardd 1Mo 20 585 5055 150 1B B4, oD (Bod L ed hden do Bod
lHddares SBPoTen adfjallon. 9dyd SEoTd) aI8RRod, adiyd
Haddaren 15415 Adrorardy afjodh® Soidren aderdy So el Db
DTdocrd). & AT Eak [Eod Sr48E Arieres GHETAOD (1) Sod (4) S8%
28 oS marand dohi Sdbod.,

{8} (533 % Sdrgrdo adjodhnb BAS50 [AMEH Sogahond Db maen (1) m
Llodod.

{b) [22¥3 %0 Harprdo E qodh B L‘éﬁlﬂ-ﬁﬂ I .".’ﬂ';_éﬂ.: :aﬂ‘géﬁauma B maran (2)
e fhBodiod.

e} Lﬁ %35 .::W.—'S-n ﬂ-ﬁ‘}nrﬁ:ﬁu L::En'ﬂm"en LI Eerd :]D'J-:&Elnl‘l- mmﬁaﬁi &
230} Sror Sogao s Eord o (3) T HBodod.

(d) i %5 Hdrerdo afjodhb (Hiddaven LI §O5 Srar HorpRo o e ch ey
S8 od0 mAdnddond M aaew 4) m HBodod .

i)
What 1s the value of x in the matnx A= 3

=
|
|
|
|
i

e b e
e

%
1
3
deds A= |1 23 #1@%@.10#

I. Ais asingular matrix
A &8 enkgroe e
IT. A 15 a non-smgular matrnx

A 25 o SR8
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(i)

Data Sufficiency

Begod JoyDE

Note: In questions numbered 1 to 20, a question 1s [ollowed by data i the form

of two statements labeled as and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
emdelines:

(a) Mark choice (1) if the statement | alone 15 sufficient to answer the
question.

{bh)  Mark choice (2) if the statement II alone 1z sufficient to answer the
question.

(¢) Mark choice (3) 1f both the statements I and 11 are sufficient to
answer the question but neither sratements alone 15 sufficient.

(d) Mark choice (4) 1if both the statements I and II together are not
sufticient to answer the question and addinonal data 15 required.

AP 1005 20 H85 2035 158 |58 8 W w8159, o8 (Bod LI ed Hhien e Dodk

leddaren S@oTen adioglon. @did SBoTD Gosorfod). =S
[Sddaren D% Sdrorari; af@jodhh Sopren edurdr Sor el b
AT Bowre), & AT Smbs (ol oSS, Arioren ALEPA0D (1) ood (4) 88
M8 mond aa o dobE Sobob,

{a) 5% 5 Hirerdo a0k 1530550 1 5MaR Soblond b aaw (1)
Hlodod.

(b} 5¥3% Hadrerdo adjohs Bdddo I &rddh Soildond D zaww (2)
m fBodod.

(6) 15435 Sdrerdo amodhd |SddTen LI £03 Suiblon wodkhd D
2.4, 3 Brge Sorgoo o idrd aaren (3)  Hlodod.

(d) 154 %0 Hdrorio ad@odh% |HidSares LI 305 Sror Sorpao i adSd
SBodo eadhdRond o maraw (M) HBodod .

C 15 a point on the line joimng B and E. D and A are point above BC such

that | DCE = | ACE. Ts CD parallel to AB ?

. 1
B soctn ot 505 8wd C 2820009 DCE =-| ACE ediypey D oo

A e BC 8 arosi 4ol sodofen. exigh AB 8 CD J&moddorn sotuom?

I

IL.

ABC is a scalene tnangle

ABC 2% 2. DAyl szbao
BC=CE
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(i)

Data Sufficiency

Berod JoyDHe

Note: In questions numbered 1 to 20, a question is followed by data i the form

of two statements labeled as I and II. You must decide whether the data
given m the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
gmdelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(by Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone is sufficient.

(dy Mark choice (4) if both the statements T and II together are not
sufficient to answer the question and additional data 15 required.

AP 11 50H 20 55 2D 38 1H8 1H3 167 .8 153, o2 (8o LT el Hen fex Todh

madiaren dBPoren aosa@Pon. afyd STord); Sa@riod, adid
HhSSaren By Hdrprard) ad o Soiiren adeddr So ed b
AT Boore), & DT w5 (fod Ar0L8E Arjgren SLHEPROD (1) Sood (4) S5
P8 smond 2aaed Joh Hobod.

(a) (241% SSrrdo aBjothd BAGS0 1arSh Sosadbhond b aaw (1) ™
HBlodiod.

B) S938 Hdrprdo adjodhi H50550 T AMEd Sogahond D aaww (2)
r aBodob.

(@) 15435 Hdrgrdo adjodh®Hh Biddoen LT 05 Soshdony @othd D
2583 S So oo mEdrd o (3) m Bbodod.

(d) (5435 SHdrerdo afjodhh |HSddaren LI 505 Srar Sogeo 58 eaddd
S8 0F0 eI5H8Hond D o (4) m HBodod .

What are the co-ordinates of the point Q 7

somg () Quk, Dorsmen HO?

I. Q lies on the straight line / whose slope 1s 3

IL

seento 3R 5006 30t | D Q dotvod.

I makes an intercept of 4 on 1y-axis

v ofo® /eoddgpodod
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()

Data Sufficiency

BERo¥ HoRHS

Note: In questions numbered 1 to 20, a question i1s followed by data in the form

of two statements labeled as L and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Usmng the
data make an appropriate choice from (1) to (4) as per the following
guidelings:

(a) Mark choice (1) 1f the statement I alone i1s sufficient to answer the
question.

(b  Mark choice (2) if the statement 11 alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 od 20 385 afl s 158 1598 1591, o0 (oS LT el Hlven Ko Bodh

[Radiaren d@PoTen @afn@lon. @ty S80TR) Sodriod, @iy
hddaren Hi3% Hdrgrard; adjothd Soaren aderdr S ed Dk
AT Boire), & AT Emb (Hod 05 Srjoren EEBPAOD (1) Jod (4) 88
B o Bara e Jodhi Sabob.

(a) 1D¥5 Hdrgrdo a0 1H5550 1 SmEH Sopddond S adaran (1) m
Mlodoh.

(b) 15435 sdrerdo atdjodhs Hddd0 I S3rddh Sosahond D zam (2)
m H8odob.

(e} D935 Hdrrdo adjodhd Didaren LI 50D Svghdon wmothd D
e.H2e3 Brge HUrgwo TES@ o (3)  Mlodod,

(d) 12¥1% LHdrordo adjodhd Sddaen LI 205 Sroe Susoo 58 ewddD
SBPoF0 e SHSRond N 2o (@) m HBodod .

What 1s the number of divisors of n?

1 GRS, gRRSae DOy, oS T

I. 1=n <= 10000
II. »= 6000

Options:
1. %1



o V2
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()

Data Sufficiency

Baod HoyHS

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as L and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Usmg the
data make an appropriate choice from (1) to (4) as per the following
guidelings:

(a) Mark choice (1) if the statement I alone i1s sufficient to answer the
question.

(by  Mark choice (2) if the statement 1T alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

B 1 od 20 385 af) )b 158 1595 1591, o0 (ol LT el Hiven Ko Bodh

mddiaren d@PoTen @afa@lon. adysn S8R0 Sad@Piod, adyd
[Bddaren [BE5 Adrpan; adjodkhh Sdoiiren adEdrE o el dh
DT Bomd, & AT S (2o SrESE Y SrEres SEEPAOD (1) Do (4) S8
BB smond naamd dohl Sdbod.

{a) 13¥) 5 HArErdo adyodhd |Hadao I SMah Sogadond o aaraw (1)
mlodod.

(b) 1543 % S&rrdo adjochd HiGh0 I 5S8R SosRdbond D zaw (2)
m H8otod.

() (H¥E Ddrgrdo adjohl Hidaren LI FOH Sogdhon @wodhd
4308 Broe Sorgeo @ aara (3) m HEoS0S,

(d) 15¥15% Hdrordo adjodhd Sddaen LI 205 Sroe Susoo 58 eddS
S8 0F0 05800 o aaren (4) m HBodod .

How many positive mtegers are less than n and relatively prime to n?

11 ol dfiys egdn oain 1 5 P Heed Howy Oy 55 APROSID R,?

L
IL

Options:

n=25.7

_h

1 15 composite

11 boctng Do
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 15 followed by data in the form

of two statements labeled as I and II. You must decide whether the data
siven in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement [ alone 1s sufficient to answer the
question.

(b}  Mark choice (2) if the statement II alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1f both the statements I and II together are not
sufficient to answer the question and additional data 15 required.

HPSS 1 Hod 20 585 S 1ha (595 % 28 1531, od (Bod LI &) hen fo Bodh

[Hadaren SBFoTen @djo@ow. @tlye S8oTR) Sodirfod, adyo
Saddaren S5 Hdrgrardy adjodhl Stiaren eadierddr Gor e b
AT Boord. & DT Em (208 SPr0AEE Ar(Eren adE@PrFol) (1) Dod (4) S85
28 mond 2o and JohE Jchod.

(a) |54, % Sdrprdo adjofh b Hdddo 1 Srah Sosddond b aaes (1)
h@odod.

(b) (D435 Hirgrdo adjodhdH (H5550 I drsdh Sogadond D saw (2)
m hbodod.

(e) 1HE1% HSrgrdo atdjohdh BSdaren LI $502 Sogddhon wmodhd D
2.8 63 Bror Hoswo sEr@ 2o (3) m Hbodod.

(d) 15415 HidrerSo adjodh |HS5Saen LI 505 Sror dogeo T 853
S odo edhSdond D zaan (4)m Hlodod .

What 15 the first term of the Geometric Progressionty, t. t3 .....7

edd 1. . i . ws, 0sd Hoo 507

I tq :t3=2
II. ts=064
Options:

1. %1

o oo



3.¢3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269483
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6672694799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
(1)  Problem Solving
rERRy, RO

(a) Sequence and Series

eduSsimen, Saen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each guestion has a blank
space. Tlas has to be filled by the correct answer from the four given

options to complete the sequence without breaking the pattem.

et Sden 21 od 30 IO f HS DELSHR BQH Howsen RO OED) TRO 25

SHoogRn Dobird, Sdomon. H6 HELEO B0 B ey Do Kol
00 ©awd 2oty iS50 el DobirDs Porio Swrtro? FPoomD.

27.343, 6859,
(1) 3375
(2) 1331
(3) 2197
(4) 1728
Options:
1. %1
o %o
3¢z
4 # 4

Question Number : 22 Question Id : 6672694800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
REoRRy ROD
(a) Sequence and Series

efoSHmen, Sren

Note: In each of the questions numbered 21 to 30, a sequence of nmumbers or
letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern.

A Hden 21 Mol 30 HOW e DB HEFER FYO Horsen D SE5Den TRD 25
S00gT6 Holbdrn), Sduoyon. H8 HELE°0 80 BY6 My 29T fod
00 @ond Rara 650 edusi DabER0E Porto SeniERolR YROowRD,

1.3.8 . i
(1) 2
(2) 10
3) 6
(4) 4
Options:
1. %1
2 ® 2
3. % 3
4 ¥ 4

Question Number : 23 Question Id : 6672694801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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(1)  Problem Solving
AdoaRy, Red

(a) Sequence and Series
exfoSHren, dmen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern.

Al Dden 21 fod 30 HOL do HB HESER AN Homxen MO ST THD 15
E00gIos DobdrR), ROuTyon. H8 DGO B0 BYH ey 2YPY Kol
0O @ond Raraud o650 edusi DaLER0S Porto SeniERolR JROcwRD,

LLS. N
(1) E
(2) 8]
(3) F
(4) H
Options:
1. %1
2 ® 2
3.3
4. # 4

Question Number : 24 Question Id : 6672694802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do e
(a) Sequence and Series

efioSHmen, e

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern.

Aoedf:  Dden 21 od 30 HOD do HB HEGHER YO Homken D ST THD 15
ER00gIH DAERR, PSuTyw. $8 HELGO B0 BYS Ty DY ol
RO B SaRa 6,500 eduSio PeLERS oo SeiERote ARoowRD.

Z.W.Q .V

(1) H
(2)
(3) G
4 I

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 25 Question Id : 6672694803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(1}  Problem Solving
REORRy, ARG
(a) Seqguence and Series

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

Roedl:  pden 21 food 30 SO rfo H& HESER BQH Homsew MO BETeeD TR 5
Song R DS, Sdinanon. H8 HELGO PED KYH Ty DY wod
PO Band 2arawy H0,E0 ekuss HobiErOS Joro SarERotP JRocRD.

170, 1332, 50. . 10,
(1) 82
(2) 75
(3) 120
(4) 126
Options:
1. %1
o ® 2
3. % 3
4. 9 4

Question Number : 26 Question Id : 6672694804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
RE0RRy ROG

(a) Sequence and Series

Note: In each of the questions numbered 21 to 30, a sequence of numbers or

letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given

options to complete the sequence without breaking the pattern.

doedl:  Den 21 fod 30 HOD o D& HLSER BQb Homen MO SR TR 5
Hhoagn Doirg), Sediummon. 58 HYLEO wED HYH mep YD Mwod
Ho vond 2aeand 260,520 el DabdErpS Joro SaiEro® PocRD.

6FL : 91IR : : : 3E]

(1) 3CE
(2) 2BD
(3) 4DF
(4) SHP

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 27 Question Id : 6672694805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0



(1}  Problem Solving
REORRy, ARG

(a) Seqguence and Series

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattein.

Amd: DYoo 21 fod 30 S0H ro H8 HESHER 26 Homsew MR OEme) D 5

SRR DokBng, Sliumon. H8 DL WED BYS ey DY ol
0 Ban® BaRuod 60,50 EoE DCLHRDS Poro SLIEROTD HROCRD,

Book: Publisher: : Film :

S8o : (HhHdaEd = dIS

(1) Director aTeREAT. 1)
(2) Editor Dot
(3) Script Writer 1935 Eddcad
(4) Producer ayorgeb
Options:
1. %1
2 ® 2
3. ¥ 3
4. v 4

Question Number : 28 Question Id : 6672694806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(1)  Problem Solving
REioaRy ARGD
(a) Sequence and Series

efoSmen, dmoen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or

letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given

options to complete the sequence without breaking the pattern.

AnSs:  Dden 21 food 30 565 o H HEFER RAH Hosyen TAO BT RO 2.5

SHongFod DobERR), dinmron. D8 D40 Ho aYs Ty DY fod
o Bond 2aeai 6,50 efsE HabBRDS Jono SensrRoke JROowRD,

RAM: UGV : : CAT -

L. FGV
2 FCG
3. FGC
4. GFC

Options:

1. %1

2 ® 2

3.¢3

4 % 4

Question Number : 29 Question Id : 6672694807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do e
(a) Sequence and Series

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern.

Roedl  Dden 21 fod 30 HOL fe DO HESHR Y Homen MO Bfoeen TRO w5
5005306 DoLErR), Sdimnon. 58 HEGO wEO FY6 Ty DY ol
00 Sowd 2arady g, 520 edosi DaLERLE Jorlo SariSrol® gRroowRD,

T e

z T,
M " E’

[
{ B ]

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 30 Question Id : 6672694808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
REoaRy ROD
(a) Sequence and Series

ooSHmen, e

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattein.

Amdf S 21 o8 30 H0D o H8 HESER B HoRen P BETH TR L5
S502g b DobErR), Ddinmon. 28 D40 eEo 2Q0 ey agEe ol
0 @oand 2aeai o650 el DobEelE Jono SenriERoiR RPOowRD,

OFP :30::CX:
(1) 72
(2) 24
3) 9
(4) 18

Options:

1. %1

o %D

3.9 3

4 % 4

Sub-Section Number: 3
Sub-Section Id: 667269484
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6672694809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1) Chord

E%

(2) Radius
a@bgm

(3) Circumference

20D

(4) Diagonal

HE0ED
-1

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 32 Question Id : 6672694810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Note: In questions numbered 31 to 35 pick the odd thing out:

BERE: 31 ®od 35 H6H fo PEeS® HOFIODD HYOoTHD.

(1) Crow 58
(2) Parrot De¥
(3) Eagle fa{=)
(4) Duck 23°ed)
Options:
1. %1

o B oo



3 ¥ 3
4. v 4

Question Number : 33 Question Id : 6672694811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE0DE: 31 od 35 H6D o DEeS? HoTIDD HROHEW.

(1) 2Z+y—2xy
(2) x+y+2dxy
(B a2

(4)  4x? -403xy + 37

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 34 Question Id : 6672694812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE0DE: 31 od 35 H6D o DEeS? HoTIDD HROHEW.

(1) 62
(2) 59
(3) 67
(4) 73
Options:
1.v1
2 ® 2
3. ¥ 3

4. # 4



Question Number : 35 Question Id : 6672694813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

rERS: 31 Wob 35 H6D rTo PEeS® HOJIODD HYOowE.

(1) Hyderabad Soerd

(2) Mumbai Snoz3

(3) Bhuvaneshwar AN RS

(4) Indore 20856

Options:

1. % 1

o ® D

3 %z

4. 9 4
Sub-Section Number: 4
Sub-Section Id: 667269485
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6672694814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

9. .126.48.1332.168

(1) 8
{a) 10
(3) 0
(4) 12

Options:

1.¥1

o %o

3. % 3

4 % 4

Question Number : 37 Question Id : 6672694815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

DOG. HDN. PHB.

(1) ABW
(2) BAW
(3) BAV
(4) BAX

Options:

1. %1

2 WD

3 ® 3

4 % 4

Question Number : 38 Question Id : 6672694816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

7y & 3 L
(1) K
2) M
3) 1
(4) N
Options:
1. %1
o ® 2
3 %3
4. 9 4

Question Number : 39 Question Id : 6672694817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

fd00Y DOchHrd DirEraeS? grdoi HPRooos.

1, 4,8, 11,22,
(1) .25
(2) 33
(3) 26

4) 44



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 40 Question Id : 6672694818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

rs00Y dochrd Hirprare S grdoi HRooos.

A2A DIE. Gle6l

(1) E 321
(2) J320
(3) 1. 23¢)
(4) 1250

Options:

1.9 1

o ® D

3 ® 3

4 % 4

Question Number : 41 Question Id : 6672694819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

EDU. IGS. . QMO
(1) MIQ
(2) TUPN
(3) MIP
(4) LIQ
Options:
1.v1
2 ® 2
3 ¥ 3
4 % 4

Question Number : 42 Question Id : 6672694820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

BAT. EVA, ; QFU,

(1) HMI YTI
(2) JOIJ. ZUH
(3) KOK.HUX
(4) IMH.TYI

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 43 Question Id : 6672694821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

6.3.1.025
(1) 0.0083
2} 0.05
(3) 0.5
(4) 0.005

Options:

1. %1

2. 2

3 %3

4 % 4

Question Number : 44 Question Id : 6672694822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

X YL X+ XY, XYL P2 G-,

{ }
(1) 3X.3Y
2) 3X+Y),3(X-Y)
(3) 4X. 4Y

4) HX+Y)HX-Y)

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 45 Question Id : 6672694823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

2+ 6. 4+.20. 6+ 42,

¢1) 8+Jﬁ
2) 12+ m
3) 8+7
(4) 8+347
Options:
1.v1
o ® D
3 %3
4 % 4

Sub-Section Number: 5
Sub-Section I d: 667269486
Question Shuffling Allowed : Yes

Question Id : 6672694824 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)



(b} Data Analvsis
serod Diae
Study the following Bar diagram carefully and answer questions 46 to 48.

63 DLBH RO 25 Dl ST Bgohbo b, 46 1008 48 SO 10 HEOE BamoO

&858,

EUI

70 -
60
50 |
40 | :
Eu - - - - - - - s
20 '
10 | I
0
2000 2001 2002 2005

2003 2004

Production of Food Grains
(in Thousands of Tonnes)

adSoTRhEDe S8 (o b ed?)

Years / o painen (in Thousands of Tonnes)

Sub questions

Question Number : 46 Question Id : 6672694825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The average food production (in Tonnes) from 2001 to 2005 is

2001 %o 2005 S5 ST PR VO S&,8 (L60,059)

(1) 50,000
(2) 40,000
(3) 45,000
(4) 55,000
Options:
1.v1

o ® oo



3 ¥ 3
4 % 4

Question Number : 47 Question Id : 6672694826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ratio between the mcrease m production between 2000 and 2003 and

2000 and 2005 1s:

2000 Hoci» 2003 Hog, DO 2000 SO 2005 Hgk 00 &S HSD

DGO Hogs DS

(1) 3:2
(2) 4:3
(3) 5:3
(4) iy 4

Options:

1. %1

> R oo

3 %3

4 ¥ 4

Question Number : 48 Question Id : 6672694827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The approximate percentage increase in production of food grains from

2001 to 2003 1s.

2001 %o 2003 8 8556 AR 66,8 & DELE BSO (WHRCOMR).

(1) 15.66%
(2) 15.03%
(3) 16.66%
4) 16.075%

Options:
1. %1
o R
3. v 3



Sub-Section Number: 6
Sub-Section Id: 667269487
Question Shuffling Allowed : Yes

Question Id : 6672694828 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Note : The marks obtained by a student in the examination in (A) Mathematics

(B) English (C) Telugu. (D) Social Science (E) Science are depicted in the
following Pie Diagram, Based on this data answer the questions 49 to 53,

% Dorsd ok HBES' (A) Aeddo (B) mofio  (C) Senid (D) ASrRE R0 ()
FdeDo o & S0d Srdyeh & (o8 B Hao & Prodh HEjaTon.
& Sorodo oo (mdse0 49 Sod 53 J8% e |mijok aawes ordbod

Sub questions

Question Number : 49 Question Id : 6672694829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If the student secured 150 marks in A. how many total marks did he secure

in the complete examination?
2.8 D g8 A 150 Srdogen 37 Bndo HBES @SB IS Srd) e B o?

(1) 360
(2) 450
(3) 600
(4) 1000

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 50 Question Id : 6672694830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The ratio of the marks obtained by the student in Mathematics and Telugu.

D508 KeBSo HBotn Benid S S8 Sy e DK e

£y 1129
(2) 15:13
3) 1313
(4) 19:14

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2.2

3.3

4. 4

Question Number : 51 Question Id : 6672694831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



If a student has scored 150 marks in Mathematics. how many marks did he

score in social science?

D508 KeBbo & 150 Srpdojen 5D eSE ardrzl R0 S S0 S Sy en
PATA R

(1) 100
(2) 105
(3) 110
4) 120

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3 3

4. 4

Question Number : 52 Question Id : 6672694832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the percentage of the total marks scored by the student in C.D and

E put together?

Ders88 C.D . E o 92 30335 Srdpe 3650 dod?

(1) 52
(2) 582
(3) 60<
(4) 61%

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

z 3

4. 4



Question Number : 53 Question Id : 6672694833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If a student got 150 marks in A. how many marks did he get in D & E put

together?

2.8 Drs08 A S 150 Srdozen 5 Bndo @ddd D. E e 55 S8 33 Serdozen

) ?

(1) 240l
3

) 2412

(3) 245

: =

(4) 245

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2.2

3.3

4. 4

Sub-Section Number: 7
Sub-Section 1d: 667269488
Question Shuffling Allowed : Yes

Question Id : 6672694834 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)



Note: The following passage to be analyzed for answering the questions
(Q. No. 54 to 55)
In a class of 60 students. 23 play Hockev. 15 play Basketball and 20 plays
Cricket. 7 play Hockey and Basketball. 5 play Cnicket and Basket Ball. 4
play Hockey and Crcket, and 15 students do not play any of these games.
Using this data, answer the questions 54 and 55.

60 S0 DR (o Sorass 23 o0 L, 15 H0d RS S Docn 20 Hod 53
& stie. 7 oo 358 Socin iy 8, 5 538 Sockn weiS e, 4 ok 588
Soocin 538 stestn. 15 dod 81 St sbed® Hb oid. & HdrRTso SHLE 54,55

2,059 saewen teabob.

Sub questions

Question Number : 54 Question Id : 6672694835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The number of students who play Hockey. Basketball and Cricket 1s.

98, 25 e oo 8365 o8 DR Doy

(1) 3
(2) 8
(3) 11
4) ©

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 55 Question Id : 6672694836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The number of students who play Cricket and Hockey but not Basketball 1s

8365 Sooin 58 ethein, RS oS S0 DR Homy

(1) 4
(2) 2
(3) 3
(4 1

Options:

1. %1

o ® 2

3 %3

4. 9 4

Sub-Section Number: 8
Sub-Section I d: 667269489
Question Shuffling Allowed : Yes

Question Id : 6672694837 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



(c) Coding and Decoding Problems
'80of A5°80R %S sen
Note: Theletters A B.C. ... Z of the English Alphabet are numbered 1, 2 .
26 respectively. A Code 1s designed by the following rale:
Rule: The i th the letter 15 coded as the jth lener where / = 3i+ 2 (mod 26). The

reverse process 15 followed for decoding.

Example: The 9% letter 1 15 coded as € becanse, 3 X 9+ 2 {mod 26) 15 29 (mod
26) which 1z 3 and the letter C 15 numbered as 3. Based on this coding

procedure answer the questions 56 1o 60.

ki inio
sofi taredoegoen A B . C. .. 2 evddadm 1, 23,
26 w0 oad. ol 3.2 B3G5 H Boo Dodiici 0 89 dedeoonoc,

paiano: =37 +2 (mod 26) soudatsy 1286508, | 2 egdom 556 Eeda
A Baof g A2 D65 SgaD asmrnr G
ermanoe: 988500 Lo Cm 86 dxa. sotsod 3 X 9+ 2 (mod 26)

=28 (mod 26)=3 DHecuC 23 m raooo.

£ ol a0 eibocs 56 Dol 60 S0 e Ddmdh Easesi saobod.
Sub questions

Question Number : 56 Question Id : 6672694838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Thecodefor COMPUTER 1s5?

COMPUTER &8&

(1) KUOXMIQD
(2) KUPYNLRE
(3) KVPXMQID
(4) KVOXNJIQD

Options:
1.9 1

o oo



3 ¥ 3
4 % 4

Question Number : 57 Question Id : 6672694839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the code for STATE?

STATE & 8¢ oa?

(1) GSESP
(2) GIEIQ
(3) GIFJP
(4)  GQEQR

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 58 Question Id : 6672694840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which wordiscodedas FULL Y ?
a0 FULLY me S8 JabhaBod?

(1) SILLY
&y IBTLY
(3} JOQLLY
(4) SORRY

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 59 Question Id : 6672694841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The number of letters of the alphabet that remain unchanged in this coding

1S

&2 53800® HR6),[oBR V5 Ho);

(1) 4
2 1
(3) 3
3 2

Options:

1. %1

2 ® 2

3 ¥ 3

4 ¥ 4

Question Number : 60 Question Id : 6672694842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the code for MAN A GE R?

MANAGERS&SEa0?

() OEREWQD
(2) OFSFWPD
(3) OGRGVQE
(4) OHQHURD

Options:
1.91

o oo
o ® 3
4 % 4

Sub-Section Number: 9
Sub-Section 1d: 667269490
Question Shuffling Allowed : Yes

Question Id : 6672694843 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (61 to 65)

Note: A word or a group of letters to be coded or decoded based on the

certamn codes. Using the nformation. answer the questions 61 to 63.

risoos: 205 Hoderey earrdore €5 Bor AYS Sabaf o8 Do For & orey DT,
& ndrcrod, Gudirfod) 61 Sod 65 (105 AT TE0 Fasol

Sub questions

Question Number : 61 Question Id : 6672694844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “CHENNAI" is coded as “XSVMMZR"” than “MUMBATI" is coded as:

CHENNAI » XSVMMZR m 858 I3, @t MUMBAI ® a¢5 S5&

BSOS,

(1) NONAYR
(2) LFLYZR

(3) OFOXZR
(4) NFNYZR

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 62 Question Id : 6672694845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “PUNE’ 1s coded as “QXSL". then the code for “CUTE" 1s

PUNE & QXSL mSEDD, oath CUTE 88§

(Ly EXZL
(2) DXYL
(3) CXYL
(4) FXAL

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 63 Question Id : 6672694846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “MAHATMA" 1s coded as “PDKAQJX" then “KRISHNA™ 1s coded as

"‘MAHATMA®™ ®» ‘PDKAQJIX m, 85530, sy KRISHNA™ & dpom 586
DOVBEEDO8.

(1) NULSKEX
(2) NULSXEX
(3) NULSEXM
(4) NULSEKX

Options:
1. %1
o %o
3 %3
4 v 4

Question Number : 64 Question Id : 6672694847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If = RING™ 1s coded as “SIMF" then which of the following 1s coded as
“GSNE™?

RING & SJIMF e 858 33, odts &8 800 302 580 ‘GSNF ' m 588 Johadod?

(1) FIGO
(2) FRUG
(3) FROG
(4) FORK
Options:
1. %1

> w2



3. ¥ 3
4 % 4

Question Number : 65 Question Id : 6672694848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “2018" 1s coded as “7981” then 1947 1s the code for

‘2018 ® 7981 m 538 I, 0yt 1947, HDS 558 oHbod.

(1) 3153
(2) 8052
(3) 8025
(4) 8513

Options:
1. %1
2 D
3 %3
4 % 4

Sub-Section Number: 10
Sub-Section Id: 667269491
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6672694849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If today 1s Friday. then the day after 185 days will be

&3 B2 HBas0, vowd, 185 Here Stuaed ociybier.

(1) Sunday

Shaeio

2) Wednesday

20GHER00

(3) Tuesday
MO TS0
(4) Monday
a9abaRto
Options:
1. %1
2 ® 2

3 % 3
4 ¥ 4

Question Number : 67 Question Id : 6672694850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

At what time between 7°0 clock and 870 clock will the two hands in the

clock be at right angles to each other?

7 Hoain 8 tobe g H HFcho HP BEERGOSD Both Hveyen 258 RS

06958 w02 B9po JawSlotran?

5

7. 45—

(1) - 0

5

2 7 8§

(2] i h.Sll

7 485

(3) 4811

" 5

) 7467
Options:
1. %1
2 2
3 ¥ 3
4 % 4

Question Number : 68 Question Id : 6672694851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(d) Date, Time & Arrangement Problems
88, Hnoho, endier DD gen

If a clock takes 20 seconds to strike 11. how many seconds will it take to

strike 57

2% BBciRGo 11 SRS 20 V5o 8:08%08, 5 SR8 DIod 0D 8:0Soknod?

(1) 8
2) 5
(3) 6

(4) 10



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 69 Question Id : 6672694852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(d) Date, Time & Arrangement Problems
88, HHaoho, e@ndier DHHgen

P says “my father 1s the only son of Q’s mother and A. Q are sisters”. If R

1s grandfather of A: B 1s Q’s son then how 1s P related to B?

P 2t ootet “m $of Q Bws, $93 28 2.8 Hrxirtoth soain A.Q e» Acdivaen”.

A g, sesmo R.Q cws, Hisrntd B oand, ot B8 P 5H06ab 2060%)?

(1) Brother 2%cvt
(2) Cousin %285

(3) Father o

(4) Uncle S

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 70 Question Id : 6672694853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date. Time & Arrangement Problems
dA. Hfdho, edble Db en

Ram left office for the bus stop 15 minutes early. It takes 25 minutes for
him to reach bus stop. Due to traffic he reached 10 minutes late and missed
the bus. How much time did he take to come to bus stop?

& 8P K008 2RSS 15 Hivapen HWOWIP Haben Hoel. B DRFRS

TSRS 15 Duapen H&0D. 0f onom a6 10 DIvapey SO0 JEm,H
oocin 28 05,55 Dicieth. 2HRD 8 EmDS o6l Hod Diabo SuEiR 5P

(1) 30 munutes

30 DIoapen

(2) 25 nmunutes

25 DInapen

(3) 50 nunutes

50 DIvspe

(4) 40 minutes

40 DLoSpen
Options:
1. %1
2 ® 2
3.9 3
4 % 4

Question Number : 71 Question Id : 6672694854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A train leaves Hyderabad at 6:10 a.m. and reaches Warangal at 9:25 a.m.
The average speed of the tram i1s 44 Kmph. Then the distance from

Hyderabad to Warangal in km 1s:

25 Dew FRETRRHD . 0:10 8 560, 5vordH . 9:25 & JnSotwod.

@ Bew Do Jo Kok 44 8.5, ©ond , edTRRn rod H5orSH rie Brso. (8.80.)

(1) 130
(2) 135
(3) 143
(4) 140

Options:

1. % 1

o %D

3. v 3

4 % 4

Question Number : 72 Question Id : 6672694855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
B4, Hdodho, edaBXes Db gen

A. F are 1n different rows and columns. B 15 opposite to F and H 1s
opposite to D. who is in the same row as that of A, E and G are neighbors
of F. If the person sitting in the rows faces each other and C 15 immediate

right to D, then who is diagonally nearest to D?

A, F e 8ot 38w dend), ol S&dod’ dmm. T 8 adwm B éoyi

Boocin D 8 ocmdm Hémih, A 465006858 D srm smyth. Edocin G w

F 8 adorb dedorb ando,.  Soth Stoded® SrEih, i ot ot SpE0 dod, D 8

BtoBod b 39 8 C soll, oy D 8 08 orod® D5go Sood 61,0 256o?

(1) H
2y F
(3) G
(4} B

Options:

1. %1

2 ® D

3.9 3

4 % 4

Question Number : 73 Question Id : 6672694856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If +means = . -meansX.=means + and X means —
Then the valueof 16 +4 +5—-3x 115

+ @0l +. —®od X. + ®od t. Hocin X ©oli— vond, O
16 +4+5—-3x1Densd

(1) 20
2) 18
3) 14
4) 02

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 74 Question Id : 6672694857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

§ &)
FE b.'—- 1:|:2 ] 1:|;:]
g*b:L.g} [}_b}ﬂjw:
Iﬂb 1:1:3_
111
1y e
5y 12t
(2) 100
123
3 —
(3) 150
123
(4) e
Options:
1. %1
2 ® 2
3 ¥ 3
4 v 4

Question Number : 75 Question Id : 6672694858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If the symbols *. #. (@. £ represent addition. subtraction. multiplication and
division respectively then:

Hexn * # (@, £ 3% dofoard), SgSfomed). Hesod), FESFo)
PUARST

(15*x) @(12#8)£(1542)
(A5#3)@(12*8)£(5%5)

(1) 4
(2) 3
3) 1
4) 0

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3.3

4. 4

Mathermatical Ability

Section Id : 66726971
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 75
Number of Questionsto be attempted: 75
Section Marks: 75
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 667269492
Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 6672694859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 5Hd 0 s

o

(4) (x—y)"

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 77 Question Id : 6672694860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

F =5 =T =e(2a1h)=
(1) a-+b
(2) ab
(3) a—>b
4) (ab)™
Options:
1. % 1
o D
3 %z
4 % 4

Question Number : 78 Question Id : 6672694861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability
©08 1Ed b s
b
abibe éa=3:12 :‘pi:— =
bc ca
¢l 1:4
(2) 4:1
(3) 4:3
(4) el |
Options:
1. % 1
2 2

3 % 3
4 # 4

Question Number : 79 Question Id : 6672694862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

aob=3:5: gh=2535 =mag+bh =

(1) 104
(2) 108
(3) 112
(4) 116

Options:

1.¥1

o ® 2

3 %3

4 % 4

Question Number : 80 Question Id : 6672694863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1) Arithmetical Ability

©08 1Ed b s

v=5+35+325 =¥ -15x2 +60x+10=

(1) 40
(2) 70
(3) 90
4) 100

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 81 Question Id : 6672694864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 5Hd 0 s

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 82 Question Id : 6672694865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 5Hd 0 s

What 1s the Ieast value of x such that 43x4567 1s divisible by 117

43x4567 w0 11 aZHom pdomeod Y S0H0S 206?

(1) 4
(2) 6
(3) i)
(4) 8

Options:

1. %1

2 ® 2

3 %3

4 ¥ 4



Question Number : 83 Question Id : 6672694866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©05 (e D0 seb

The number of positive integers between 1 and 2087 that are divisible by
31 is:
1. 2087 oo 31 3 2rHodad gares HPgRosee Hom;

(1) 53

(2) 59

(3) 67

(4) 73

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 84 Question Id : 6672694867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©05 568 0l seéb

What 1s the largest four digit number that leaves a remainder 4 when it is

divided by 36. 48 and 64?

36. 48. 64088 pBowbHh Q0 4 M HoTE 107 ey ©o3e Doy HA?

(1) 9697
(2) 9782
(3) 9796

(4) 9802



Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 85 Question Id : 6672694868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

What 1s the minimum number of square tiles required to pave a floor of

dimensions 24.78 meters x 22.26 meters?

24.78 fobogy x 22.26 Sty Boden ro Fod H0-Tom RHODS SE0) Do

ﬁmg VO DOS?

(1) 3027
(2) 3127
(3) 3242
(4) 3247

Options:

1. %1

2. 2

3 ¥ 3

4 % 4

Question Number : 86 Question Id : 6672694869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

3.61 361

0.361 X
(1) 36.1
(2) 3.61
(3) 0.361
(4) 0.0361

Options:

1.v1

2 ® 2

3. % 3

4 # 4

Question Number : 87 Question Id : 6672694870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1)  Arnthmetical Ability

©05 R a8 seéb
If the recurring decimal number 1.27 is equal to the rational number 2
q

then p—g=

OO GEeod Do 127 % DHERHRH ©ECBOD Do % ©od p—q=

(1) 3
(2) 8
(3) 27
(4) 83

Options:

1.v1

2 ® 2

T %3



4 # 4

Question Number : 88 Question Id : 6672694871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

The difference between the largest and the smallest of the following

rational numbers 1is:

&2 800 ©56RCD DoV 1105, 50T Vo g Fso.

3 o Z % 6
_J' _J' _3! EJ‘ _J' E
; 11
(1) Te
13
(2) T
_ 11
(3) =
7
4) =
Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 89 Question Id : 6672694872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What is the least fraction to be added to the sum of the following

fractions to make it an integer?

83 800 ,p F0eRl), 28 HPPOoS0 Jaireod] HBSE SoDBORD EOHD,0:

11 7 1 1
o By B Fe=e T
12 36 12 4

[

(4)

Ol SOl ol O]

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 90 Question Id : 6672694873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If the length of a rectangle is increased by 15% and the breadth decreased

by 10% then the percentage change in its area i1s: Jd%03 S50

25 BYSE0H0 Dt 15% Dow Bengo 10% &8 ood Seeexos® 53
AP0, TS0,

(1) 7% increase
7% B0y

(2) 7% decrease
7% Sy
;

(3) 35% decrease

3%% S%02.%

o -
(4) 35% 1mncrease
lu,
3;/’(} o'lé\.‘;zruﬁ
Options:
1. %1
o %2
z %z
4 ¥ 4

Question Number : 91 Question Id : 6672694874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A spends 70% of his income and saves the rest. If his income increases
by 15% and expenses increase by 20% the percentage change in his

saving will be:

A S5 mads® 70% w6yl Qrised aemow) dartk. 080 mad 15% dod pmen

20% 2oH3 080 demwd® 54 armdo.
1) 30% increase
30% 8RS
; T .
2) ?% 1mcrease
10
PR | P4
% 0%y
3 o :
et | ol
3) i decrease
3 i
% S5
L s
: il | !
4) e decrease
1
E SERD
Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 92 Question Id : 6672694875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A person buys an article for Rs. 18000 and after one year sells it for less

than 25% of 1ts cost price. What 1s the sale price (in Rs.) ?

2586 58 2% HH G 18000 L BIP HoBHESBo SveS 8o, T 25% S5

ORRD. R, ORD 5O (G ©5%) Hos?

(1) 15.000
(2) 13.500
(3) 12.500
(4) 12.000

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 93 Question Id : 6672694876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A buys a piece of land for Rs. 75 lakhs and sells it to B at a profit of 10%.
B 1 turn sells it to C at a profit of 20%. The amount of money paid by C

(in Rs. lakhs) 1s:

A %% YoeR), G 75 0gpH 590 10%. erziod B % odpid. Bwe, 20% ownrol

C® odipth. C 3Podd dwdo (05 Grivdd):

(1) 97
(2) 08
3) 99
(4) 101

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 94 Question Id : 6672694877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Anthmencal Ability

Bo8 e Sraud g

A and B started a business with capitals of Rs. 12 lakhs and Rs. 24 lakhs
respechively. 4 receives a monthly salary for runming the business. At
the end of the year they receive Rs. 1.80.000 each. What was the monthly

salary of A (in Rs.)?

A. B oo S005M ore1 2 een, tmi24 oo fupapBos? .5 oo Shtoooml,
TG DR DS 4 Bodeo Edo BiuBlotrth. Hodd modod agos S0

@ 1,80.000 S@rhorm 53 4 Aude ddo (A 0d®) sod?

(1) 6.000
(2) 7.500
(3) 0.000

(4) 10.500
Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 95 Question Id : 6672694878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Arnthmetical Ability
ol e P

A and B enter into a partnership business with capitals in the ratio 4:5
respectively, At the end of 4 months 4 withdraws and B continued. At the
end of the business they share profits i the ratio 1:5. The number of

months B’s Capital was used 1s:

A. B e o8 Hind snhoeh), SDm 4:5 Di@e Saporbosd Sroodomt. el
Repodod® 4 aahoefo IO B Bapliooty, mgahoodseood? apto
eRepad 1:5 Ray AP SochBod B furpasm, DDERN0OS Seao Donds ;

(1) 8
(2) 12
(3) 16
(4) 20

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 96 Question Id : 6672694879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Arnthmetical Abality
ol e P g

2 pipes can fill a tank 1 30 nunutes and 36 munutes respectively. A third

pipe empties the tank at the rate of 11 liters per minute. If all the three
! = ! 1 :
pipes are opened simultaneously 1t take 325 minutes for the tank to be

full. The capacity of the tank m hitres 15 SrdS ey

2 pen 2.5 SO0 SEHMP 30 O, 36 O 0 DodrioP. JurdS Dy GO
DEwap0s 11 g Fros wrddabroth, & furd pHeur u8H0 S0d $98

Dodom® :2%::., Sodool. S Sosmao Hbpds:

(1) 1060
(2) 960
(3) 760
(4) 660

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 97 Question Id : 6672694880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two pipes 4 and B can fill a tank in 2 hours and 3 hours respectively. If
both the pipes are opened together the time required in munutes to fill the

tank 1s:

A. B 2ipen 25 SO 2 tiou, 3rion 0° Dodrew). Sododd 2500 30D Y
DoBoms HE Dvcho DEnapess,

(1) 7 5
(2) 85
(3) 105
(4) 108

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 98 Question Id : 6672694881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A man 1s walking at a speed of 10 kmph. After every kilometer he takes

rest for 5 minutes. How much time he takes i muinutes to cover a distance

of 7 kms?

28 8 ro&% 10 8.5. oS Hibar. D8 85Dt Stsss OSHy 5 DIwapen HFeod
&0%08 7 5.80. HE-Joth DHE DEco DEvaPOS® wos?

(1) 68
(2 70
(3) 72
(4) 76

Options:

1. %1

2 ® D

3.9 3

4 % 4

Question Number : 99 Question Id : 6672694882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the tume taken in hours by a cart to cover a distance of 0.9 km

at 0.25 (meters per second) ?

0.9 8.80. BroRR), DEHH 0.25 HHtHgS? Hohdod pod B08IT HBcko Foted? nos?

(1) 1
(2) 1.2
(3) 1.4
(4) 1

h

Options:
1.91

o oo
3 ® 3
4 % 4

Question Number : 100 Question Id : 6672694883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

R and S can finish a job 1n 10 days, S and M can finish it in 12 days and
M and R can finish it in 15 days. In how many days will R, S and M

together finish the job?

25500 R. Sew 10 B%edlitm, 5. Men 12 B32edéir M. Rev 15 Barodttr

FPe Dobrewd. R. 5. M en Snorfir Sod oTH080 08,500 pg Jabie.

(1) 8
(2) 7
(3) 6=
(4) 6

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 101 Question Id : 6672694884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

P can do a work m 12 days and O can do the same work 1 16 days. Both
start the work together and QO left after 4 days. How many more days are

required by P to finish the work?

P25 500 |2 Sered® dobioth. O od 500 16 Bzred? oo, ago 500

DD AwserDEH ey ere St O HOERITE. HOD HPY Woomwd P B Rose

of), Bdzren HSooD?

(1) 4

~—
[
s
LA

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 102 Question Id ;: 6672694885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length of a plot is 5 times 1s its breadth. A playvground measuring
500 sq.m in occupied by one fourth of the total area of the plot. The

length of the plot in meters is:

285 pén o5 T SBen 508 5 BeY . G RSO 4 B Hosbe 500 3.8, Jreexo
to SmRPe0 Hod. © ko ot Sneod? :

(1) 30
(2) 100
(3) 120
(4) 125

Options:

1. %1

2 2

3. % 3
4 % 4

Question Number : 103 Question 1d : 6672694886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
©05 568 0l seéb

Area of the given figure.

QS 0B He T go
/ 3m
6m
(1) 18+(1+nx) 6m 6m
(2) 18+(2+7) 6m

3) 18+(1+27)
4)  36(1+m7)

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3 3

4. 4

Question Number : 104 Question Id : 6672694887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the volume of a cube (1n cu.cms) whose total surface area in

726 sq cms?

QOYPE SDOS )0 726 @.20.80.Mm e Fobio b HoBRE0

(30.20.80.069 ) 20s?
(1) 1231
(2) 1321
(3) 1331
(4) 1728

Options:

1. % 1

2 %2

3. ¥z

4. # 4

Question Number : 105 Question Id : 6672694888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length. breadth and the height of a cuboid are in the ratio 6:5:4 and
its total surface area i1s 33.300 sq.m. What 1s the length of the cuboid (in

meters)?

25 HF oo 5D, ey, odew 6:5:4 DYBS? HotR D LOJE S JBeex0
33,300 <5.50u T® 0O, 520 D) (Hon 0°) vos?

(1) 60
(2) 75
3) 85
(4) 90

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 106 Question Id : 6672694889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If the length and breadth of a rectangular plot area 120m and 76m

respectively, then the cost of fencing it at Rs.8 per metre (in Rs) is:

&Y, SEHCFTCoSKD, 25 TR ), D e S 120 &, 76 & vand, HerD

B2, § 5ot 503 Sctnrth ©63y; DB (Grmedd).

(1) 3136
(2) 3130
(3) 3124
(4) 3118

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 107 Question Id ;: 6672694890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The area (in sq.cm) of a regular hexagon of side 4cm 1s:

4 20.80. 20220 TR B0 &5 SRR s, eeex0 (E.0.5.06%)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 108 Question Id : 6672694891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two equal cubes of side of length 18 cm are joined together to form a

cuboid. Then the total surface area of this cuboid (in sq.cm) 1s:

Zhzee ae8d) 1 8 Do.fo.me re Both DERH Fomeei 225088 H0658 2EH0Y 28

&:ggnmmﬁ DOBVO. O S E)g;;mﬁo DOHPY SHOSO JTRe) 0 (3.20.80.0659)

(1) 2430
(2) 3240
(3) 4860
(4) 7290

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 109 Question Id : 6672694892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 s 0 d 58

{:r: |8—4x‘| > 12} =

M (= -D)uls =)
2) (~o0, —1)U(5, »)
(3) (-1 5)
4) (L 5)

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 110 Question Id : 6672694893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability
©08 s 0 d 58

If S5x+7=12 (mc-d 18). then the smallest integral value of such an x is:

Sx+7=12(mod 18) ocistys, 505 eopmRos0 X.

1) 19
2) 17
3) 13
4) 15

Options:
1.91

o oo
o ® 3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269493
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6672694894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If p. g are any two statements, the negation of the statement

(~pva)r(pv~a))v(pAag) is:

930 Both gSSmen p. ¢ 0% ((~ pvg) A(pv ~q)) v (p A q) Bos, #8685
D560,

(1) (eva)a((~pr)v(~q)
(2) (pAq)v
(3) (prg)n

(4) (pva)a

Options:
1. % 1
o %D
3 %3
4 v 4

~p)A(~q)

~p)v(~q)

| —

P e R . R e
TET UL "R e R ST

~p)A(~q)

Question Number : 112 Question Id ;: 6672694895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

For any two statements p, ¢ a tautology among the following is:

HI0 Bothd ST P, ¢ 0 0B B 25 VD0,

(1) pv(~(rnra))
(2) (pvq) =p
(3) ~(png) =>p

(4) ~(pnq) = ~p

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 113 Question Id ;: 6672694896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Let 4. B be subsets of a set X and let n(4) denote the number of elements

inA4. If n(4)=15.n(40B)=4. n(AUB) =21 then n(B—4) =

25 208 1D 4. Ben &dd80den, 4 0 sumpese Howd /1(4 ) ardnostosiod.

n(Ad) = 15. m(ANB) =4. n(AUB) = 21 ®ond, n(B—A4)=

(1) 4
(2) 6
(3) 10
(4) 14
Options:

1. %1

e e

3 % 3
4 % 4

Question Number : 114 Question Id : 6672694897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If a set X has four elements. then the number of relations on X that are

SYmMmetric 1s; &
25 D208 V' mpenih Sapesewod, D e FgS dowowee How

(]) ~16 _ »6
2) 210

(3) 28

(4} zlﬁ_zlﬂ

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 115 Question Id : 6672694898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Eet R {(nr, n) eNZ:m+n is evﬂi}. Then the relation R on N1is :

R={(m n)eN>:m+n 20 Doy | Osod. o [N D Howogo R ©I0.

(1) Reflexive only
DORDHBHO HRgab
(2) Reflexive and symmetric but not transitive

DODTHO, F,RYDO oD HOSHLO T

(3) An equivalence relation
28 %WMG
(4) Symmetric only
PHDHo HRgd
Options:
1. %1
2 %2
3.v 3
4 % 4

Question Number : 116 Question Id : 6672694899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

A line / which makes equal intercepts with the coordinate axes. passes

through the point (3. —4). Then 1t also passes through the point:

DEPHTZOD HHPH OOST WOTRO J6HD 28 S om®) (3, — 4) o J6bod.

O S B B3 22000) MOCTR SRTR 5000,

(1) (3.—6)
(2) (6. 7)
(3) (—3. 4)
(4) —2. 3)

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 117 Question Id : 6672694900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If A(2.—3), B(3.4) and C(—1. 5) are vertices of a triangle, then the length

of median through A 1s:

A(2.-3). B(3.4) and C(—1. 5) en 2% gzbzo S pond A toowe Bad

Bocgsrieso BED.

15
1 i
(1) =
229
4 iasuial
2) :
219
3 S
(3) A
13
4 Ly
4) -
Options:
1. %1
o W2
3 ® 3
4 # 4

Question Number : 118 Question 1d : 6672694901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o ook =RBD Doy

If sin@ = % and @ is not in the first quadrant. then secf+ tanf =

Sin @ =3 opse, § 3wo8 oo S0 secd+tand =

R 3
(1) =%
12
2) =
(3) =
13
(4) P
Options:
1.¥1
2 %
3 %3
4 % 4

Question Number : 119 Question 1d : 6672694902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

Bad B0k =BBD DG
_ 1+ x2
secd—tanfd=x— — =
l—x°
(1) siné
(2) cosecd
(3) cosé
(4) coté

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 120 Question Id : 6672694903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B 805 =ABD G

A+B:gj(lﬂan‘d](lﬂanB):

(1) 1
@) 2
(3) 0
(4) -1

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 121 Question Id : 6672694904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
The angles of elevation of a tower from the top and bottom of a building

of height 30 meters are 30° and 60° respectively. Then the height of the

tower (1n meters) is:

30 b der 28 TG0 D o, Eob HWod w8 Yoo LB SR

30°. 60° oD adoo o (obpsd)

(1) 45
(2) 60
(3) 75
(4) 90

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 122 Question Id ;: 6672694905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

1+l:5:313+£;:
X X

(1) 125
(2) 110
(3) 90

(4) 105
Options:

1. %1

2 2

z %z

4 # 4

Question Number : 123 Question 1d : 6672694906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

3x—4y=T. xy=5 =9 +16y* =

(1) 120
(2) 144
(3) 169
(4) 196

Options:

1. %1

2 ® 2

3.¢¥3

4 % 4



Question Number : 124 Question Id : 6672694907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

The remainder when the polynomial 7x +13x" —19x—20 is divided by

i A 1

20 70 +13x7 —19x—20 & x + 2 I pBowm 53 Fxo.

(1) 14
(2) 18
(3) —14
(4) —18

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Number : 125 Question Id : 6672694908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =sRBD Doy

If a polynomial in x leaves remainders —19. 17 respectively when divided
by x + 4 and x — 5. then the remainder it leaves when divided by

g F
¥y —x—201s

X s adddx ~ 4 and x — 5 od rlodm Sy Japen o —19. 17 vcnd
& 250200 X° — X — 20 F 288 Sy Fao.

(1) Axhd
(2) 3x—4
(3) 4x +3
(4) 4x —3

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 126 Question Id : 6672694909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
The value of & for which the system Av + 3v =k —3 and 12x + kv =k of

equations has infinitely many solutions is:

Do BHY fx + 31 = F—3 Hodkw 12x + kv = i % ohosRbR, oderotity

I Dend,

Ja

(1)
(2)
(3) 6
(4) 7

L

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 127 Question Id ;: 6672694910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =RBD Doge

: 4 .. 2 E :
A fraction becomes = if 1 15 added to both its numerator and denominator

i . gl : 7 ; :
while it becomes = if 5 15 subtracted from its numerator and denominator.

The fraction is

4
2% 29,0 &S, S5veen BododS | B S 08 _ OPEL0D SR, TR O, ¥SoRe Bodod

1
o8 5 o BJDcHR O - OPHD0D. S BH.P.

(4)

B~ ST Ble R

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 128 Question 1d : 6672694911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the sum of first 21 terms of an arithmetic progression is 609, then the

11™ term of progression is
25 ©05336°0 3wl 2 | dmre 3wndo 609 vand ¢ 860 | 15 Hoe.

(1) 23
(2) 25
(3) 27
4) 29

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 129 Question Id : 6672694912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o ook =RBD Doy

. . 4 5 -
The harmonic mean of — and — 1s

x y
e o3
s SPTRGES A0GE0
(1) the reciprocal of average of x and v
X, 1 © Dritw G, Hesy o
(2) product of x and y
X. Voeono
(3) the average of x and v
X. Vo dntn
(4) the reciprocal of the sum of x and v
X. } © 8080 S, PB,a00
Options:
1.v1
o %5
3 %3
4 % 4

Question Number : 130 Question Id ;: 6672694913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
B ook =sRBD Doy

. 5 . =
The coefficient of ¥ in the expansion of

(x—1)(x—=2)(x=3)... .(x—13) is

(x—1)(x—2)(x—3)... .(x—13) D5Be&® 1!’ B, rwaso.

(1) — 78
(2) 78
(3) — 9]
(4) 91
Options:
1. %1
o ® D

3¢z
4 % 4

Question Number : 131 Question Id ;: 6672694914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

The sum of all the coefficients in the expansion of (1—2x + 3x%)° is

. Al
(1= 2x + 3x7)" GAws, DB raseR, 08 dwdo.

(1) 4
(2} 211
(3) 29

(4) 0



Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 132 Question 1d : 6672694915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

2019

(1 ) 32026‘4
(2} 32‘]1;_/1
(3} 32018 4
(4] SEGI?A

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 133 Question Id : 6672694916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

1 0 0 S T
4=0 1 0. 5=0 1 §] = FFTERE AT
g 0 1 1 0 0
(1) A+B
(2) A-FB
(3) AB
(4) 0
Options:
1.1
o %D
3. % 3
4 % 4

Question Number : 134 Question Id : 6672694917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
B 805 =ABD G

; sin x—x
lim ——=

=0 x°

1
(1) 5
. 1
(2) =
- 1
(3) 7

1
(4) o



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 135 Question 1d : 6672694918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

. dy
If vy=xsmx, thenatx= E, R
: 2" dx

. T dy
r=xsinyeand, x=— 5 —=
1 2 Q dx

(1)

o o |

(2)
(3)

(4)

SR

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 136 Question 1d : 6672694919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

In a triangle ABC.|4=|B=|C. The bisectors of the angles |[B and [C
interect at D. Then |BDC =

25 8vzo ABC &, ABC. |A=|B=|C. Swen |B,|C ssoaxmwoss
Bwen D $g wododHotua,on. Opyt |BDC =

(1) 30°
) 60°
(3) 90°
(4) 120°

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 137 Question 1d : 6672694920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the diagonals of a thombus are 9 cm and 12 cm. then the perimeter of

the rhombus (in cm) 1s:

25 o Seboesyo DS 9 R.8., 12 3.5, 0and, 6 HivSemzo dipSes
(Ro.fn.069)

(1) 30
) 21
(3) 32
(4) 28

Options:
1.91
o %2
3 %3
4 % 4

Question Number : 138 Question Id : 6672694921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

Sedai SOk @Resak Fsogse

Let P be an external pomt to a cucle and PT be a tangent drawn from P
meeting the circle at T If 48 15 a chord of the circle such that 4. B, P are

collinear, PT=5 cm and PB =4 cm then P4 = H8dk

25 5Em08 P ol vangsoc, fme, Togsodbey Phuod Hemes S6
25 008n PT eofusiod. 4. B. P e d8dairediytym AB %6208 =5
opdr, L7 =3 o.db. Hodw PBE=4nboeond FP4=

(1) 6cnm
6 Do,

(2) 625cm

6.25 %.80.

(3) 6.5cm
6.5 &80,

(4) 6.75cm
6.75 R.8o.

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 139 Question Id : 6672694922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the area of the triangle with vertices (1. 2). (2. 3) and (x. 4) 1s 40 sq.

units then the value of |x — 3] 1s:

(1.2).(2.3). (x. 4) Bopeom fe 25 82020 520 40 w.car. oS,

[x — 3| cws, Dews.

(1) 70
(2) 80
(3) 85
4) 90

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 140 Question Id : 6672694923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
Area (1n sq. units) of the quadrilateral ABCD with vertices A(2.—1).
B4 3). €1, 2), B3 2)s

A2 ~13 & 3), 1. 23 8 3. =2) émqwmmﬁé:@ao ABCD

AwE, oeex0 (&.chw.068)

(1) 30

(2y 21

3) 22

(4) 18

Options:

1. %1

o %o

3 % 3

4 ¥ 4
Sub-Section Number: 3
Sub-Section Id: 667269494
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6672694924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

Arithmetic mean of 56. 57. 58. .... 100 1s:

56.57. 58, .... 100 o oosndds Hritw

(1) 78
(2) 80
(3) 82
4) 76

Options:
1.91
o %2
3 %3
4 % 4

Question Number : 142 Question Id : 6672694925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

The median of some observations 1s 12. If two additional observations
10. 15 are added to these observations. then the median of the new series

of observations 1s:

ﬁm&ﬁamw&o12mmﬁ@m3ﬂm1ﬂ.151)!636%&’:&36!6&)5:

Blodm 53 598 Hodode IB ognso.
(1) W]

(2) 14

(3) 13

(4) 12
Options:

1. %1

o %D

3. ¥ 3

4 ¥ 4

Question Number : 143 Question Id : 6672694926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

If the arthmetic mean of some observations 1s 26.5 and thewr median 1s

25.4. then their mode 1s:

£2R), Hodone Hritn 26.5 Soocho &8 ogshiso 25.4 oond a8 wwtso.

(1) 223
(2) 2332
(3) 234
(4) 24.3
Options:
1. %1
2.2
3 % 3
4 % 4

Question Number : 144 Question Id : 6672694927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) ~Statistical Ability
RoWEIRD aﬁ"gﬁé

Standard deviation of first 2n natural numbers is:

B 271 Dire Dowe 5 DIVBO.

4n”-1
0 2

ans 41
@
3) i
i 12

@



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 145 Question 1d : 6672694928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(iii) ~Statistical Ability
RORETD gamgsé

10
For the ten observations X1, X2, ..., X10 it 1s given that fo =12
i=1
10
and er = 18. Then the standard deviation of the data 1s:
i=1

10
S0 Hodoven Y1, Y2, .... X0 0% Eboam&oﬂZ.Tf =12 socso
i=l

a7 =18 enah, ©osososhoIOBO.

i —='

(4)
Options:
1. %1
o ® oo
3.3
4 % 4

rjon ] e wa]on

Question Number : 146 Question Id : 6672694929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If the sum of the squares of the deviations of ranks of two students in

seven subjects 1s 21. then the coefficient of rank correlation is:

it HFR AP HmRse TyoHen Do Stpe Ao 21 vand 533

MaROoR0E TLRS50.

I
R

3)

4)

= o]~ ®lA glw

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 147 Question 1d : 6672694930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

A problem in mathematics is given to three students P. O and R whose
: 2 1 1 1 : G
chances of solving it are A and 5 respectively. Then the probability

that the problem will be solved is:
OBS0SD &% D B daie P, O, R 0 20, Hoonm aetd H,

¥ 1
RPoHLD HogRsde 5 7 ooy 5@.{:!].:53 e3 Do g ardodadher Sy

P02 Seb,

2

(1) 5

3

(2) 3

4

(3) =

5

(4) =
Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 148 Question Id : 6672694931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

Four dice are thrown simultaneously. The probability that all of them

show the same numbers 1s:

TV VB 23 RO E590Y. O, 23 HowH WRYLH HoPHS.

. 1
(1) -
1
(2) =
1
3 —
3) 720
1
4 "
4) 1440
Options:
1. %1
o WD
3 ® 3
4 % 4

Question Number : 149 Question Id ;: 6672694932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If two cards are drawn at random from a well shuffled pack of 52 cards,

then the probability of getting both cards from same suit 1s:

2R 5006 52 Segye DB Hnse 54 tod cirgRsor Soth DS Hwsemh &3,
S Dot 28 65208 BoDBHER; Doz,

1 1

(1) 17

2

(2) =

3

(3) 5

4 4

(4) o
Options:
1. %1
o %o
3. % 3
4 ¥ 4

Question Number : 150 Question 1d : 6672694933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a"ﬂ‘ﬂgsé

When two dice are rolled at random. then the probability of getting same

prime number on both dice 1s

& Both bt SRRSO HROVHW, & oo 1 28 (HEes dowy HF
DOERIES

1
1 i
(1) 5
5
2 s
( ) 36
1
(3) =
9
@) -
36
Options:
1.9 1
o %2
z ® 3
4 % 4
Corrorrmnication Ability
Section Id : 66726972
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 38
Number of Questionsto be attempted: 38
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 667269495

Question Shuffling Allowed : Yes



Question Number : 151 Question Id : 6672694934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Slipshod

(1)  slippers
(2)  careless
(3)  careful

(4)  cunning

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 152 Question 1d : 6672694935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:

Recalcitrant

(1)  lesson
(2 recall
(3)  sympathetic

(4)  disobedient

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 153 Question Id : 6672694936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Placid

(1)  turbulent
(2)  tranquil
(3)  agitated
(4)  troubled

Options:

1. % 1

2.2

3 % 3
4 % 4

Question Number : 154 Question Id : 6672694937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Frugal

(1)  economical
(2 financial
(3)  monetary

(4)  1ndustrial

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 155 Question Id : 6672694938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Conciliate

(1)  change
(2)  rouse

(3)  offend
(4)  placate

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 156 Question Id : 6672694939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Wholesome

(1)  delicate
(2)  gaunt
(3)  unsound
(4 healthy

Options:

1. % 1

o %D

3 ¥ 3
4. v 4

Sub-Section Number: 2
Sub-Section 1d: 667269496
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 6672694940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

A printed list of questions to be answered by a number of people is
called

(1)  aswvey

(2) anagenda

(3) amenu

(4)  aquestionnaire

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 158 Question Id : 6672694941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

Many would not prefer to live a life like that of a hermit.

(1)  solitary
(2)  solitude
(3)  solo

4y  solitaire

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 159 Question 1d : 6672694942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill in the blank choosing the correct word

The old people in the village still the old traditions.

(1)  observe
(2)  1gnore

(3)  discourage
(4)  forget

Options:
1.¥1

o B oo
3 ® 3
4 # 4

Question Number : 160 Question 1d : 6672694943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blank choosing the correct word

Although he 1s shy it certainly has not his career in any way

(1)  helped

(2 encouraged
(3)  impeded

(4)  impelled

Options:
1. %1
2 %
3. v 3
4 # 4

Sub-Section Number: 3
Sub-Section 1d: 667269497
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6672694944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A storage area in memory that stores information temporarily while in use 1s
known as

(1)  Buffer

(2 Bug

(3)  Capacity
(4)  Check box

Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 162 Question 1d : 6672694945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer
Pictorial representation of programming procedure is called

(1)  Algorithm
(2)  Program
(3)  Flowchart

(4)  Executive file

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 163 Question Id : 6672694946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

An inter connection of two or more computing devices 1s generally known
as
(1)  Web page
(2 Server
(3) Network
(4)  Data communication
Options:
1. %1
2 ® 2

3.¢3
4 % 4

Question Number : 164 Question Id : 6672694947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct answer
Which of the following 1s not a guided transmission media?

(1)  Fiber optic cables
(2)  Twisted pair cables
(3)  Coaxial Cables

(49 Radio waves

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 165 Question Id ;: 6672694948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

The storing and accessing of data and programs over the internet mstead of
on another type of hardware drive is known as

(1) Cloud computing
(2) Compression
(3) Content

(4) Chip

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 166 Question Id : 6672694949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer
When do you conduct an induction of a new employee in an organisation?

(1)  Before recruitment
{2 Before Selection
(3)  Before completion of probation period

(4)  Before assigning the job
Options:
1. %1
2 ® 2
z %3
4 ¥ 4

Question Number : 167 Question Id : 6672694950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A report of accounts that represents ending balance of each account in the
list at the end of the accounting period is known as

(1)  Account Receivables
(2)  Trial Balance

(3)  Allocation Rate

(4)  Asset Stripping

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 168 Question Id : 6672694951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

The economic concept that each consecutive unit of good consumed or
resource used. 1s  less useful or productive than the preceding one is known

(1)  Diminishing Returns
(2 Deflation

(3)  Depression

(4)  Discounting

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 169 Question Id : 6672694952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

One of the assumptions in economics 1s that human wants are
(1)  scarce
(2)  constrained by resource
(3)  seasonal

(4)  unlinuted
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 170 Question Id : 6672694953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A legal document by which a bank lends money at an interest in exchange
for the title of a debtor’s property 1s known as

(1)  Mortgage

(2)  Premium

(3) Loan
(4)  Credit
Options:
1.v1
o %2
3 %3
4 % 4
Sub-Section Number: 4
Sub-Section 1d: 667269498
Question Shuffling Allowed : Yes

Question Number : 171 Question Id ;: 6672694954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A : “Look at what you have done! You have knocked me down with your
cycle.”

B : “Well vou should be more careful while crossing the road.”
‘B’ 1s

(1)  apologetic
2y furious
(3)  unapologetic

(4)  angry

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 172 Question Id : 6672694955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Choose the correct answer
A: "My friend went through many ups and downs before he could reach the

present stage."
B: “Patience has its rewards. after all™.

‘B8

(1) hostile
2)  philosophical
(3)  derogatory
(4)  unfriendly

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 173 Question Id : 6672694956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Change the following sentence into active voice: My pocket has been
picked.

(1)  Someone has picked myv pocket
(2)  Someone have picked my pocket
(3)  Someone picks my pocket

(4)  Someone has been picking my pocket

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 174 Question Id : 6672694957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

“You had better hold vour tongue.” The underlined expression means

(1)  keep the tongue between the teeth
(2)  take back what 1s said
(3)  not nunce words
(4)  not speak
Options:
1. % 1
o %D

3 ¥ 3
4 v 4

Question Number : 175 Question Id ;: 6672694958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Membership in the sports club can cost vou an arm and a leg.” The
underlined expression means. it 1s

(1)  physically strenuous
(2)  exhaustive
(3)  dangerous

(4)  expensive
Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 176 Question Id : 6672694959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the correct answer

There is so much red tape involved in getting official permits. The
underlined phrase means

(1) cost
2y risk
(3)  bribe
(4) delay

Options:

1. %1

o ® 2

3. % 3

4. 9 4

Question Number : 177 Question Id ;: 6672694960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Nobody appreciated the manager throwing his weight around” The
underlined expression means

(1)  losing weight
(2)  giving up the authoritative position
(3)  wielding authority in a heavy —handed way

(4)  losing the authority and power
Options:
1. %1
2 82
3.v3
4. % 4

Sub-Section Number: 5
Sub-Section 1d: 667269499
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 6672694961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

[ must protest this course of action
(1) at
@ by
(3 from

(4) along

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 179 Question 1d : 6672694962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

He delights bemg helpful.
(1) 1n
(2) over
(3)  after

(4)  through
Options:
1.1
o %oz
3 %3
4 % 4

Question Number : 180 Question Id : 6672694963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

being a gentleman. he was also a reputed singer.

(1) Beside
(2)  Besides
(3)  Although

(4)  Despite of
Options:
1. %1
e g
3 %3
4 % 4

Question Number : 181 Question Id : 6672694964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

I waiting here for the last three hours.

(1) am
(2)  have been
(3) was
(4)  had been
Options:
1. %1
2 ¥z
3. % 3
4 % 4

Question Number : 182 Question 1d : 6672694965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blanks with the appropriate phase/verbs/ preposition:

I wish she dead.
(1)  were
(2)  was
(3)  had
(4)  has
Options:
1.¥1
2 ® o
3 % 3
4 # 4

Question Number : 183 Question 1d : 6672694966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

You are walking too fast. I can’t with you.

(1) keepup

(2)  make up
(3)  bring up
(4) getby

Options:
1.v1

o oo
o ® 3
4 % 4

Question Number : 184 Question Id : 6672694967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

I love to the stars in the sky at night.

(1)  look out
(2)  look up at
(3)  look forward

(4)  look away
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 185 Question Id : 6672694968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

A crisis can the best in someone.

(1)  bring up

| ]

(2)  bring out

(3)  bring over
(4)  bring round

Options:
1. % 1
oD
3 %z
4 % 4

Sub-Section Number: 6
Sub-Section Id: 667269500
Question Shuffling Allowed : Yes

Question Id : 6672694969 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the following passage and answer questions

To avoid the wvarious foolish opmions to which mankind is prone. no
superhuman genius 1s required. A few simple mles will keep you. not from error,
but from silly error!

If the matter is one that can be settled by observation. make the observation
yvourself. Aristotle could have avoided the mustake of thinking that women have
fewer teeth than men, by the simple device of asking Mrs. Aristotle to keep her
mouth open while he counted. He did not do so because he thought he knew,
Thinking that vou know when in fact vou don’t 1s a fatal mistake to which we are
all prone. I believe myself that hedgehogs ¢at black beetles, because I have been
told that they do; but if I were writing a book on the habits of hedzehogs I should
not conunit myself until I had seen one enjoving this unappetizing diet. Aristotle,
however, was less cautions, Ancient and medieval authors knew all about unicorns:
not one of them thought it necessarv to avord dogmatic statements about them

because he had never seen one of them.

Sub questions

Question Number : 186 Question Id : 6672694970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What do humans require to avoid bemg dogmatic?

(1)  super human genius
(2)  open-mindedness
(3)  afew sumple rules

(4)  a firm belief in themselves

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 187 Question Id : 6672694971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What was a common personality trait in Aristotle?

(1)  He was right about his beliefs
(2)  He did not verify his beliefs
(3)  He was always obstinate

(4)  He never made any mistakes

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 188 Question Id : 6672694972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the author believe in?

(1)  Intention

(2)  Dogmatism
(3)  Verification
(4)  Ignorance

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 189 Question Id : 6672694973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What would the author do 1f he had to write a book on the eating habits of
hedgehogs?

(1)  see hedgehogs eating black beetles
(2)  believe that hedgehogs ate black beetles
(3)  write about hedgehogs eating black beetles

(4)  read about hedgehogs eating black beetles.

Options:



1.1
o %o
3 %3
4 % 4

Question Number : 190 Question Id : 6672694974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to the author, what did the ancient and medieval authors feel
about their observations?

(1) It was foolproof
(2) It was cautious
(3) It was doubtful

(4) It was verified
Options:
1.91
o R
3 % 3
4. # 4

Sub-Section Number: 7
Sub-Section 1d: 667269501
Question Shuffling Allowed : Yes

Question Id : 6672694975 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the following passage and answer questions

Most managers don't do things in the order of priority that they have
rationally selected. They do things according to feelings. That's how their day is
run. Professional managers fall mnto two categories. There are doers and there are
feelers. Doers do what needs to be done to reach a goal that they themselves have
set, They come to work having planned out what needs to be done. Feelers. on the
other hand. do what they feel hke domg. Feelers take thewr emotional temperature
throughout the day, checking in on themselves, figuring out what they feel like
doing right now. Their lives. their outcomes. their financial security are all dictated
by the fluctuation of their feelings. Their feelings will change constantly. of course,
50 1t's hard for a feeler to follow anything through to a successful conclusion. By
contrast, a doer has high self-esteem. A doer enjoys many satisfactions throughout
the day. even though some of them were preceded by discomfort. A feeler is
almost always comfortable, but never really satisfied. A doer experiences more and
more power every yvear of his life. A feeler feels less and less powerful as the vears

g0 on.

Sub questions

Question Number : 191 Question Id : 6672694976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the major shortcoming in most managers?

(1)  they are mactive
(2)  they do not act rationally
(3)  they are dependent on others

(4)  they are foolish
Options:
1. %1
e
3. % 3
4 % 4



Question Number : 192 Question Id : 6672694977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who 1s a “feeler’?

(1)  aperson with a goal
(2)  aperson who plans his day
(3)  aperson who is a slave to his emotions
(4)  aperson who enjoys life
Options:
1. % 1
o %D
=¥z
4 % 4
Question Number : 193 Question 1d : 6672694978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

What 1s the meaning of “emotional temperature™ ?

(1)  constant changes in one’s feelings

2)  the temperature of the physical body
(3)  intensity of one’s emotions
(4)  attitude to life

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 194 Question Id : 6672694979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What does a ‘doer” have?

(1)  plenty of work

(2)  high self-esteem

(3)  aloss of confidence
(4)  others to work with

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 195 Question Id : 6672694980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does a ‘feeler” experience as the years go by?

(1)  a sense of achievement
(2)  asense of failure
(3)  asense of satisfaction

(4)  asense of happiness
Options:
1. %1
2 2
z %3
4 % 4

Sub-Section Number: 8
Sub-Section 1d: 667269502
Question Shuffling Allowed : Yes

Question Id : 6672694981 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following passage and answer questions

It requires a sense of superiority assurance. and self-confidence, fo write
about bores at all. except as one of them. But smce a true bore 15 always
nnconscious of his ‘borishness’, and indeed usually thinks of himself as the most
companionable of men. to write as one of them 1s to acquit oneself of the stigima.

Bores are happy largely because they have so much to tell and they can find
people to tell it to. The tragedy is they can always find their listeners. me almost
first And why can they? Why can even notorious bores always be sure of an
audience? The answer is the ineradicable kindness of human nature. Few men are
strong enough to say “For Heaven's sake go away. vou weary me’

One of the bore’s greatest assets 1s lis sumphicity which disarms. Astute
crafty men are seldom bores; very busy men are seldom bores.

Sub questions

Question Number : 196 Question Id : 6672694982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which quality 1s NOT required to write about bores?

(1)  Kindness
(2)  Confidence
(3) A sense of superiority

(4)  Belief n oneself
Options:
1.91
o R
3 % 3
4. # 4

Question Number : 197 Question Id : 6672694983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following 1s NOT true of a true bore?

(1)  being conscious of his boorishness
(2)  being happy by and large
(3)  finding their listeners

(4) sure of an audience

Options:
1.v1
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Question Number : 198 Question Id ;: 6672694984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why are bores happy?

(1)  they love their audience
(2)  they have never faced any tragedy in their lives
(3)  they always find their listeners

(4)  they are loved by everyone

Options:
1. %1
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Question Number : 199 Question Id : 6672694985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which quality stands out in a bore?

(1)  Astuteness
(2)  Cunningness
(3)  Simplicity
(4)  Busyness

Options:
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Question Number : 200 Question Id : 6672694986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does ‘ineradicable’ mean?

(1)  extreme
(2)  feeling
(3)  shameless
(4)  deep-rooted
Options:
1. % 1
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